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PRE-CALCULUS 11
RADICALS
MULTIPLYING RADICALS PART 2

A. Definitions
1. radical: a mathematical symbol representing a root.

2. distributive property: a process of multiplying a polynomial by a monomial.

Ox (3x™ + 2x - 5‘}\

3. FOIL method: a process of multiplying two binomials.

(’SM ¥ a,\\)<3~\ - :h\\

B. Multiplying Complex Radicals

1. Expand and simplify.
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Assignment: Multiplying Radicals Assignment #6, 7, 8, 9
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Radicals Lesson #6: Muiltiplying Radicals 141

6. Expand and simplify where possible.
) VEvE-V3) B VI(1-vZ) o 2V3(2VT -4V5)

a) VIVE-VIZ) b)) VB(VE-VZ) o 2VI0(VE +4V3)

d) 2V/TT(3VZ - V30 +3V32) &) V5(3V5 -V75 +3V3)

0 v2(V3 -12v3) -V3(VE -2V) ) 2V3 (V2B -2)-VZ(5+7v2)
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142  Radicals Lesson #6: Multiplying Radicals

8. Simplify.
D EWTNI-VE) B VIVE)VI+I)
¢ (5vVE-2)(3v8 +4)_ d) (2v3 -m)(\/a—?\/ﬁ)
9. Expand and simplify.

2 (5v3 -2) b (4WE-vZ) o (VIZ+VEA)

) (3v28 -8) o AVIE-3VE) 0 (V5-3I+VI0)
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146  Radicals Lesson #6: Multiplying Radicals

Answer Key
1. ) V21 b) 8/15 ¢ 40722 d) 3v/5 e) 45 0 30/15 §g) 30
h)-6/10 1) 252 P 83 K 21/S 1) 360
2. Amwersmayvry @) (3V3)5V6) » (5VZ)3)
3.a) 3 b) 32 ¢ 45 Q) -12 e 5/5
4.8 6/30 b) 2 ¢ 36/10 d) saﬁ 8 ) 483
5, a) 11394 b) 36y/10 ¢) 11384 d) c)because rounding is not done until the Last step.
6. a) 12-/30b) V2 -2 .e)' _4«{?-8_{?
7. 8) 6/2-6 b) 4/3 -4 ¢) 4/15 +40V2 @ zo\/E
e) 15-2/15 1) .'_7\/1_0_ —_iwi' g) 40-4\/3--5\/5
8. &) ~14-5y3 b) 5+2Y6 ©) 12+28/2 @ 76v2 -30V15
9. a) 79-20/3 b) 98-16y3 ¢) 724.'41'!_\/5:([) 1936 - 192¢/13
) 120-60y3 #) 33-6Y10.+10y2- 123

10.8) Area=105{/2 -9, = Perimeter=12y/3 +12y/6.
b) ‘Area=45V/5 - 67, Perimeter=30V5 - 4v/7 +6

‘11.a) 4b) 1¢) 2 -

12.8) V2+V5 b) "4-‘I{ﬁ ¢) -3/8 +15

13.a) V3 +1, 2 b) 2-4/5, -1 ¢) 2/6 +y3, 21
@D WE-VZT.5 o V32443, 29 1) -3V40 -2/10, 320

14. B 15. C 16. C

17.[ 7 [ 4 1oas 2| | 19.0 2 [ o
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